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&AL | SN K4 77 b A > |GROSS| HDCP | NET | crossisifr i NEAZ | I K4 77 k| A > |GROSS| HDCP | NET |crossifr %
1| FH 81t 46 40 86| 15.6 |70.4 11 30|85 321k 50 44 94|16.8 |77.2 37
2RI e 48 45| 93| 21.6 |71.4 36 31| A1 52 54| 106|28.8 | 77.2 52
3N ZE 40 42| 82| 9.6 |72.4 4 32|Af ZE5L 45 42| 87| 9.6 | 77.4 16
4H =2 43 48 91]18.0 | 73.0 29 33 m FIRA 51 48 99| 21.6 | 77.4 43
SIPNEEN 49 53| 102]28.8 |73.2 48 34|91 k7 49 50 99/21.6 |77.4 44
6| A K 41 41 82| 8.4 |73.6 3 354 H 15 44 42 86| 8.4 |77.6 12
TiEA B 44 44 88| 14.4 |73.6 22 36 | &R oL 40 46 86| 8.4 |77.6 14
8 HE B 44 43 87/ 13.2 | 73.8 17 37| FH G 46 46 92| 14.4 | 77.6 35
9|3 H Af— 51 41 92| 18.0 | 74.0 31 381FH Th 50 47/ 97/19.2 | 77.8 42
10| LRy fEUkE 44 42|  86/12.0 | 74.0 13 39|11 K 48 42)  90/12.0 | 78.0 26
11T &R 42 43 85| 10.8 | 74.2 9 40| R 37 39 76| -2.4 | 78.4 1
12 ISR & 44 46|  90|15.6 | 74.4 28 41k'E BE 46 42| 88| 9.6 |78.4 21
13| WA fE— 50 45 95(20.4 | 74.6 40 421350 F Mk 49 45 94| 15.6 | 78.4 38
14| HE {5 A 44 45 89| 14.4 | 74.6 23 43| Rfn FE— 42 52 94| 15.6 | 78.4 39
154 E = 43 46| 89| 14.4 | 74.6 24 44758 TEN 54 51| 105|/26.4 |78.6 51
16|=fs 1EH 48 51 99]24.0 | 75.0 45 45| 1T JERSE 48 55| 103|24.0 | 79.0 49
7)) EE 43 42| 85| 9.6 |75.4 8 46| KR 46 44| 90]/10.8 |79.2 27
18|EA JEE 37 48 85/ 9.6 |75.4 10 VYAPN 3 | 59 49| 108]28.8 |79.2 53
ICIUNIIRAS S 45 51 96(20.4 | 75.6 41 48| Lk FHHE 41 42 83| 3.6 | 79.4 5
20| HF B 40 43 83| 7.2 |75.8 6 49 | [l 2= 50 50| 100]20.4 |79.6 46
21|y FAT 39 50/  89[13.2 | 75.8 25 50 FH #9458 57 55| 112]32.4 | 79.6 55
22 | FaA Fok 45 42| 87/10.8 | 76.2 15 51|+ A4 42 45| 87| 7.2 |79.8 19
23| AR PR 43 44 87/ 10.8 | 76.2 18 52|48 G 48 44| 92/12.0 |80.0 33
24| Bl A 40 47| 87/10.8 | 76.2 20 53 RH # 54 50/ 104|24.0 |80.0 50
25| fEHF = 48 44| 92| 15.6 | 76.4 32 54 [E T 51 51| 102|18.0 |84.0 47
26| —7H #H 46 46 92| 15.6 | 76.4 34 55| &Il f&— 5 53| 110]24.0 |86.0 54
27 HAR B 41 50 91| 14.4 | 76.6 30 56 | H BHA 61 65| 126|36.0 | 90.0 57
28|21l Bt 39 44| 83| 6.0 |77.0 7 57|11 gk 58 57| 115/24.0 | 91.0 56
29| HH Bl 41 41 82| 4.8 |77.2 2 I PR =R 36 52 88/12.0 | 76.0 NR
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